
-01-

INSTRUCTIONMANUAL



1
2

3

4

5
11

6

10

8

7

13

12

14

16

15 25

24

19

22

21

2320

18

17 26

12

12

14

26

-02-

27



-03-

Ø15X10

M5X40

M3.5X16

M5X35
A

B

C

D

E

69

69

19

16

2
Ø6X40

M5X55

M3.5X14

F

G

H

J

K

L

10

10

8

5

1

2



-04-

1 2 3

4 5 6

7 8 10

11 12 13

14 15 16

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 3 PCS 1 PC

1 PC 1 PC2 PCS



17 18 19

222120

23 24 25

26

1 PC 1 PC 1 PC

1 PC 1 PC 1 PC

1 PC 1 PC

2 PCS

1 PC

27



-06-

2

6

7

8

3

10

A

A

AA

A

A

A

A

A
A

A

A

D

D

D

D

D

D

D

D

M5X35
A 12

D 8
Ø6X40

Step：1

Step：2



-07-

6

7

2

8
10

3

B
B

B

B

B
B

B

B

B

B

B

B

6

B

B

Ø15X10
B 6

Ø15X10
B 6

Step：3

Step：4



-08-

A

A

A A

A

A

A

A

A

A

A

A

AA

6

2

10

3

M5X35
A 8

M5X35
A 6

Step：5

Step：6



A

A

A

A

A

A4

4

M5X35
A 4

M5X35
A 2

-09-

Step：7

Step：8



-10-

B

B

B

B

B

B

4

4

12

12

12

B

B

Ø15X10
B 2

Ø15X10
B 4

Step：9

Step：10



-11-

A

A

C

C

5

4

11

M5X40
C 2

M5X35
A 2

Step：11

Step：12



-12-

B
B

B
B

B

B
B

12

12
5

6

2

11

Ø15X10
B 7

11

5

B

B

Ø15X10
B 2Step：13

Step：14



-13-

B

B

B

B

B

B

11

5

12

13

10 3

B

13

6

Ø15X10
B 1

Ø15X10
B 6Step：16

Step：15

B



-14-

14

14

8

7

5

27

Step：17



-15-

C

D

D

D

D
2

3

2223

D 4
Ø6X40

M5X40
C 1

Step：18

Step：19



-16-

CCC

D
D

D
D

C

2223

21

24

25

M5X40
C 3

D 4
Ø6X40

Step：20

Step：21



-17-

C

C

24

21

23

20

C
C

M5X40
C 2

M5X40
C 2

Step：22

Step：23



-18-

20

A

A A

25
20

B

B

M5X35
A 3

Ø15X10
B 2

Step：24

Step：25



-19-

B B

B B

A
A

A
A

19

17

19

17

18

Ø15X10
B 4

M5X35
A 4Step：26

Step：27



-20-

19

18

17
26

26

19
20

Step：28

Step：29



-21-

A
AA

A
A

A
A

A A
A

A
A

A
A

A
A

A

A
A

A

15

16

B
BB

B
15

17

19

20

25

24

26

M5X35
A 20

Ø15X10
B 4

Step：30

Step：31



-22-

A

A A

A A

A

A
A

B

B
B

B

16

17

19

20

24

22

26

1

25

Ø15X10
B 4

M5X35
A 8

Step：32

Step：33



-23-

C

C

C
C

C

C
C

C

C

1
15

16

17

21

16

15

M5X40
C 5

M5X40
C 4

Step：34

Step：35



-24-

J

J

JJ

J

F

F F

F

F

J
F

B

B

B
B

B
B

B

B
B

B
B

B

17

19

22

15

16

19

Ø15X10
B 13

M3.5X16
F J10 5

Step：36

Step：37



-25-

1

2

3

4

B

B B

B

14

B

Ø15X10
B 8Step：38

After the upper and lower parts of the cabinet
are assembled, 2 people need to help them up



-26-

G

G

G

G

G

G

G

G

GH

H

H

H

H

H

H

H

H

14

14

M3.5X14
G

H

8

8

Step：39



Peel off the tape and stick it
onto the board, then press
firmly with your hand

K

K

25
19

L

K

L

-27-

K

L

1

2

Step：40



-28-

WALL

WALL

WALL

1

2

3

E

E

E 2
M5X55

M3.5X14
G 2

G

G

G

Step：41


	图纸和视图
	FZ-005说明书-布局1
	FZ-005说明书-布局2
	FZ-005说明书-布局3
	FZ-005说明书-布局4
	FZ-005说明书-布局5
	FZ-005说明书-布局6
	FZ-005说明书-布局7
	FZ-005说明书-布局8
	FZ-005说明书-布局9
	FZ-005说明书-布局10
	FZ-005说明书-布局11
	FZ-005说明书-布局12
	FZ-005说明书-布局13
	FZ-005说明书-布局14
	FZ-005说明书-布局15
	FZ-005说明书-布局16
	FZ-005说明书-布局17
	FZ-005说明书-布局18
	FZ-005说明书-布局19
	FZ-005说明书-布局20
	FZ-005说明书-布局21
	FZ-005说明书-布局22
	FZ-005说明书-布局23
	FZ-005说明书-布局24
	FZ-005说明书-布局25
	FZ-005说明书-布局26
	FZ-005说明书-布局27
	FZ-005说明书-布局28


